

REPASO FRACCIONES

(Expresa la solución en forma de fracción simplificada de la forma a/b)

$$\frac{3}{4} + \frac{5}{2} =$$

$$\frac{24}{10} + \frac{12}{30} - \frac{15}{25} =$$

$$\frac{2}{3} + \frac{5}{6} + \frac{7}{15} =$$

$$\frac{6}{15} + \frac{3}{10} + \frac{14}{6} =$$

$$\frac{8}{3} - \frac{1}{8} + \frac{6}{12} =$$

$$\frac{12}{15} + \frac{18}{6} - \frac{10}{3} - 3 =$$

$$\frac{3}{15} + \frac{7}{10} - 5 =$$

$$\frac{4}{5} - 2 + \frac{1}{10} + 1 =$$

$$\frac{5}{8} \cdot \frac{2}{3} + \frac{3}{12} =$$

$$\frac{5}{8} \cdot \frac{2}{3} =$$

$$\frac{5}{8} : \frac{2}{3} =$$

$$\frac{3}{10} : \frac{1}{15} + 4 \cdot \frac{7}{20} =$$

$$\frac{1}{3} \left(\frac{4}{6} + 3 \right) - \frac{5}{3} =$$

$$3 + \frac{2}{7} \left(1 - \frac{1}{3} \right) =$$

$$5 + \frac{5}{8} \left(\frac{4}{3} - 3 \cdot \frac{1}{2} \right) =$$

$$4 - \frac{1}{6} \left(4 - \frac{2}{5} \right) =$$

$$4 + \frac{1}{3} \left[7 - \frac{1}{2} \left(-\frac{1}{3} + 3 - \frac{7}{2} \right) \right] =$$

$$\frac{4}{5} + 6 \cdot \left(-\frac{2}{3} \right) - \frac{5}{8} =$$

$$\frac{4}{21} + \frac{9}{5} - \frac{12}{14} \cdot \frac{2}{3} =$$

$$\frac{5}{2} + 2 \cdot \left(7 - \frac{1}{3} \right) - 4 =$$

$$\frac{5}{8} : \frac{5}{12} + 3 \left(\frac{4}{7} - 2 \right) =$$

$$7 + \frac{4}{20} \left(3 - 7 + \frac{1}{5} - \frac{1}{3} \right) =$$

$$\frac{2}{6} - 3 \left[4 + \frac{5}{8} \left(\frac{3}{5} - (-2) \frac{1}{3} \right) + \frac{3}{4} \right] =$$